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(gdb)
8xB0BBAA348279a18 in strlen () from ,1ib64/libc.s0.6
8xB0BBAA34B246b69 in ufprintf ) from /1ib64/libc.so.6
8xB0BBAA348263b49 in vsprintf O from /1ib64/libc.so.6
8xPABBAABAAA44feBe in vsendto_one (to=Bx2b1663859538,
pattern=Bx?fff7eed9beB "zs (xstxs@xs) is now operator (xc)”
v1=8x?ff7eedaBeB) at send.c:468
8xPABBAABBAR45A45f in vsendto_realops (
pattern=Bx46cb38 "zs (xstzsBxs) is now operator (xc)", v1=Bx?fff7eed9fed)
at send.c:1653
BxBABBAABBAA45A6BD in sendto_ops (pattern=Bx1 <Address Bx1 out of bounds>)
at send.c:1267
8x0ABBAABAAR448d1 L in m_oper (cptr=Bx2b1663856aaB, sptr=Bx2b1663858aa8,
parc=<value optimized out>, paru=Bx?d3988) at s_user.c:2?51
BxB08BARBAAA42d51e in client_dopacket (cptr=Bx2b1663858aa8,
buffer=<value optimized out>, length=<value optimized out>) at packet.c:234
8xB0BBAABAAA439211 in do_client_queue (cptr=Bx2b1663858aa8) at s_bsd.c:1481
8xBABBAABBAA43a476 in readurite_client (cptr=Bx2b1663858aa8, isrea
isurite=8) at s_bsd.c:1683
8xBABBAABAAA15ABT5 in engine_read_message (delay=4)
at socketengine_epoll.c:167

411 8xPPBBAABAAR1aT38 in io_loop (argc=<value optimized out>, argu=8x8)
at ircd.c:1149

#12 main (argc=<value optimized out>, argu=8xB) at ircd.c:958
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